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Longest Common
Subsequence



abracadabra



ink brute les{const char #s1, const char *s52)

|
1f ((*sl == W07 || (*32 == "W00)
return 0;

J

1f (*#51 == #*s8) {
refurn 1 + brute les(sl+l, s2+1);
toelase |
return max(brute lesisl+l, =2), brute leos(sl, s2+1));

J
h



int Loz arcc [M] [H];

int dyn lcs(const char *sl, const char *sZ, int 1, 1nt 7)

1f (les arc[1][7] == O0) {
1t §(sl[a] == "0y || isE[7] == "0y
lcs arr[l][]] = 1;
poelse 1f (s1[1] == sE[7]) {
les arc[1][7] = 1 + dyn_lesisl, sZ, 1+1, 1+Z2) + 1;

oelse |
les arc[1] [7] = maxi{dyn lcsisl, sZ, 1+1, 73,
dyn les(sl, s, 1, J+13) + 1;

I

return les arc[1] [7] - 1.

h



int los acc [MAXM] [MAXN] ;

int dyn lcs{const char *s1,

i

strlenisl);
strlenis2);

for {i=n; i»=0; 1--) {
for (3=m; j»=0; j--) {

const char *#s5i)

if ffsl[i] == 000 || (sE[3] == "W070%
lca_arr[l][]] = 0;
toelse if (sl[i] == =2[]1) {
les arc[i][j] = 1 + les arc[i+l] [j+1]:
} else {
los_arr[i] [§] = max(los_arc[i+1] ],
les arc[i][j+1]):
I

i
h

retuorn les acc[0] [0];

h



for {1=n; 1:=0; 1--) {
For {g=m; je=0; j--) {

) gsEa] == )

} else 1f {31[ ] == si[1]) {
rowl[q] = 1 + rowi[]+1];
toelse |
rowl[7]
1
i

mazg{rowl [+1], rowZ([q]);

for (9=0; Jj<=m; Jj++)
rowi[j] = rowl[7];
h
'

ans = rowe[0];



Suffix Tries
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0.a
1. a
2.b
3.b
4. a
5. a

abbaa
bbaa
baa
aa
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3.aabbaa
4. abbaa

0. (empty)
5.baa
6.bbaa

1. a
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